EBlaidueul { eiojoaliq
/ OpUOYIUY UoUId Blnf "D

oalnoaly Jojpaliqg

obn7 sejelsop |@nbiy asor ‘Bu)

=\ T
_
00'£0.'889" 00°0Z8°¢90'0L |00°0Z8't90'0L |00°LLL'SLE'6 [00°0 00°LLL'SLE'6 o)seo jop ejo L
00°0 000 00°0 00°0 00°0 00°0 solopajue sojeosy) sojooiofe op sopnepy
000 000 00°0 00°0 00°0 000 eoueq e| op salopesoye A sesopnep e sofode o epnop ‘olspueuyy 01509
000 000 000 000 000 000 soldiojunw A sealjelapa) sepepljua e sauojoedoiued
000 000 000 000 000 000 OpezZI|elapa 4 0)Sec)
000 000 00°0 000 0070 000 (jesopo 4 ouleiqog) opezijelapaq ojses ap seweiboid
000 000 000 000 000 000 sauoisuad ep eINONISeal A UOISIBAUl Bp SOPUO) B Sauolepody
000 000 000 000 000 000 uQIDeZI|Ige}Sd ap SOpuUo) B sauopepody
000 000 000 000 000 000 |e1oos pepunbas e| B sauoioepody
000 000 000 000 000 000 sauoioe|ignf A sauoisuad
o000 000 000 000 000 000 sauooeBliqo
000 000 000 000 000 000 sajeinieN saljsesa(
000 000 000 000 000 000 [euoid2ipsunl uoioNjosal ap ojuaiwidwnd ap sauoeblig
000 000 00°0 000 00°0 000 sosiwoidwon
000 000 000 000 000 000 seusle seuopeiadp
000 000 000 000 000 000 uonsab e| ep ojusiwelolsw |e A eoqnd ugioun; | e okody
000 000 000 000 000 000 |euoionyijsul erousioys el Jesolow eled £ ouejsandnsaid oseooud |e ofody
000 000 00°0 000 00°0 000 okody ap A soanessiulLpy
000 000 000 000 000 000 uoisiaau| ap sojoakold
000 000 000 000 000 000 soalyioadsy
000 000 000 000 000 000 (lesopa oulsiqon) sjuswedlu)) SepeWIY SBZIan{ Se| ap Sauoioun 4
000 000 000 000 000 000 uoisinsadns A uoioeinbay
000 000 000 000 000 ojuawoy A ugIDoWOoId
000 000 000 000 000 sealqnd seoijijod ap uoioenjeasa A ojueiwinbas ‘uooeaueld
000 000 000 000 000 $001|qnd Sauaig ap UQISIAOIH
00'£0.'889 oo'0ze'co0'ol Joozii'sie’s |oo0 00°2L1'SE'6 $021|qNgd SOIAIBG 8p UOIDBISald
00°£0.'889- 00°0z8'€90'0L  |00'0Z8'€90'0L |00°LLL'SLE'6 |00°0 00°2LLSLE'6 sauooung sej ap ouadwasaq
000 000 000 000 000 000 SOIpISqNS SONO
000 0 000 000 000 uoesadQ) ap se|bay e sojelng
000 000 000 000 000 soididiunpy A sealjelapad sapepijug o opeatld A |B120S 10)095 soIpIsqng
sewelboid|
(v-c)=9 ] v (z+1)=¢ zhd b
Sauoloan
opiiefogng iy bttt il il rocoW”__“% opeqoidy cEN
sosalbg

LZ0Z 9P 2JqIDIP 8P LE B 0J3UB 3P |0 |20
eonewelbold elobajes sod ojsen

seuapie) osezeT ojualueaues A enby ap |einy ejunp




